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100 Questions

Que. 1 Ifamirror is placed on the line AB, then which of the answer figures is the right image of the given
figure?
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Testbook Solution Correct Option - 1

Que. 2 How many total triangles are there in the following figure?

1. 16
2. 18
3. 20
4. 24

Testbook Solution Correct Option - 3

Que. 3 In a certain code language, "PRINT" is coded as 114. How is "WHITE" written in that code
language?

@ Teachingninja.in



1. 140
2. 138
3. 139
4. 160

Testbook Solution Correct Option - 2

Que. 4 Arrange the given words in the sequence in which they occur in the dictionary.
1. Legal
2. Legible
3. Legitimate
4. Legendary
5. Legend
15243
12453
32451
4. 15423
Testbook Solution Correct Option - 4

woh o=

Que. 5 In the following questions, select the related word from the given alternatives.
Lion : Den :: Rabbit : ?

1. Hole

2. Pit

3.  Burrow
4.  Trench

Testbook Solution Correct Option -3

Que. 6 Select the option that is related to the third term on the same basis as the second term is related to
the first term.

14:49::196:?
1. 685
2. 9604
3. 1290
4. 742

Testbook Solution Correct Option - 2

Que. 7 Find the odd one out from the given alternatives.

1. Polar bear
2. Arctic wolf
3. Camel

4.  Musk ox

Testbook Solution Correct Option - 3

Que. 8 The pairs of words given in the options share a similar relationship except in one pair. Identify the
odd pair of words.

1.  Sword : Slaughter
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2.
3.
4.

Testbook Solution Correct Option - 4

Gun : Shoot
Spanner : Grip
Spoon : Cut

Que. 9
1.
2.
3.
4.

Testbook Solution Correct Option - 3

If CANDLE can be written as VOWMZX, how can FLAMES be written?

XTUMRO
LPYDMT
HVNZOU
UOZNVH

Que. 10  Find the missing number from the given responses in the following question.

woh o=

4.

Testbook Solution Correct Option - 1

3

4 5§56 29
99 153 ?
f 38 7 6 1

127

124

130

190

Que. 11 From the given answer figures, select the one which is hidden/embedded in the question figure
(Rotation is NOT allowed).

Testbook Solution Correct Option - 1
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Que. 12 A piece of paper is folded and punched as shown below in the question figures. From the given
answer figures, indicate how it will appear when opened?
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Testbook Solution Correct Option - 3

Que. 13 By folding the given paper, which of the following cube can be made?

>
@
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4.

Testbook Solution Correct Option - 2

Que. 14 Select the option that can replace the question mark (?) in the following number series.
4,25,126, 7, 1516, 3033

1.
2.
3

4.

400
501
509
505

Testbook Solution Correct Option - 4

Que. 15 Select the figure that will replace the question mark (?) in the following figure series.

O * ¢
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Testbook Solution Correct Option - 3

Que. 16 Which one set of letters when sequentially placed at the gaps in the given letter series shall

complete it?

~d _ac__a db_cd_

I.
2.
3.
4.

abcdabced
bcabcada
cbdbcaba
babacdcd

Testbook Solution Correct Option - 3
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In the following question below some statements are given followed by some conclusions. Taking
Que. 17 - . .

the given statements to be true even if they seem to be at variance from commonly known facts,
read all the conclusions, and then decide which of the given conclusions logically follows the given
statements.

Statements
Some A are B.
All B are C.
No A are D.
Conclusions
I. Some A are C.
II. Some B are D.
III. Some D are A.
IV. Some C are not D.
1.  Only IV follow
2. Only I and II follow
3. Only III follow
4.  OnlyIand IV follow
Testbook Solution Correct Option - 4

Que. 18 Which of the diagram best shows the relationship among human beings, engineers and divorcee?
1.

BB

Testbook Solution Correct Option - 1

Que. 19 Select the correct combination of mathematical signs to replace * signs and to balance the
following equation :

TESES*4*10

1. ++-=
2. x-=x
3. x+=x
4, +x+=

Testbook Solution Correct Option - 3
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Que. 20 If A =B means A is the sister of B, A > B means A is the mother of B, A < B means A is the father
of B and A * B means A is the brother of B. What does X =Y <Z ~ U >V mean?

X is the uncle of V
V is the niece of Y
Y is the grandfather of V
4. Zis mother of V
Testbook Solution Correct Option - 3

woh o=

Que. 21  Count the number of triangles in the given figure?

AN
N

1. 34
2. 32
3. 30
4. 36

Testbook Solution Correct Option - 2

Que. 22 Arrange the following steps in the sequence as per the film making process.
1. Filming
2. Editing
3. Planning
4. Distribution
5. Casting
1. 34215
2. 35124
3. 51324
4. 53241
Testbook Solution Correct Option - 2

Que. 23 Which number will replace the question mark (?) in the following series?
10, 22, 35, 49, 64, 80, ?

1. 87
2. 97
3. 77
4. 67

Testbook Solution Correct Option - 2

Que. 24  Select the series in which letters are not according to the general rule.
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1 PRTVXZ
2. CEGIKM
3. MORTVX
4. ZBDFHJ
Testbook Solution Correct Option - 3

Que. 25 What was the day of the week on 17 April 2014?

1. Wednesday
2.  Monday

3. Thursday

4. Sunday

Testbook Solution Correct Option - 3

Que. 26 GST council coms under which article of Indian constitution?
1. Article 278
2. Article 279 A
3. Article 281 A
4.  None
Testbook Solution Correct Option - 2

Que. 27 Rickets is caused by deficiency of which Vitamin?

1. Vitamin B
2. Vitamin C
3. Vitamin D
4. Vitamin A

Testbook Solution Correct Option - 3

Que. 28 Mata Prasad passed away in January 2021. He was related to which of the following fields?

I. Acting
2. Politics
3.  Medicine

4. Journalism
Testbook Solution Correct Option - 2

Que. 29 What is Ottan Thullal ?
1. South Indian Dance form
2. North Indian Dance form
3. Rajasthani Dance form
4.  None
Testbook Solution Correct Option - 1

Que. 30  Which one of the following is a water soluble vitamin?
1. Vitamin C
2. Vitamin K
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3. Vitamin D
4. Vitamin A
Testbook Solution Correct Option - 1

Que. 31 Which among the following is not appointed by the President of India?
1. Vice-President of India
2. Judge of Supreme Court
3. Attorney General of India
4.  Chief Justice of India
Testbook Solution Correct Option - 1

Que. 32 When is National Girl Child Day celebrated?

1. 11 December
2. 11 September

3. 24 March

4. 24 January

Testbook Solution Correct Option - 4

Que. 33  Which of the following infectious agents causes malaria?

I. Fungi
2. Bacteria
3. Protozoa
4. Virus
Testbook Solution Correct Option - 3

Que. 34 Who among the following was the author of 'Amuktamalyada'?
1. Krishnadeva Raya
2. Gangadevi
3. Allasani Peddanna
4. Tenali Rama

Testbook Solution Correct Option - 1

Que. 35 Who is the current chairman of Telecommunications Consultants India Ltd.? (July 2021)
I. Mr. Sanjeev Kumar Kesari
2. Shri Sanjeev Kumar
3. Mr. Narendra Jain
4. Mr. Kamendra Kumar
Testbook Solution Correct Option - 2

Que. 36 Who among the following discovered laws of planetary motion?

I. J. Kepler

2. Albert Einstein
3. N. Copernicus
4. Otto Blathy
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Testbook Solution Correct Option - 1

Que. 37 Tso Kar Wetland Complex, which was recently added to the Ramsar sites, is located in the Indian

state/UT of-
Arunachal Pradesh
Sikkim
Ladakh
4. Jammu and Kashmir
Testbook Solution Correct Option - 3

w o=

Que. 38  Where did Madam Cama hoist the first tricolor flag in 1907 ?
1. London

2. Paris
3. Moscow
4. Stuttgart

Testbook Solution Correct Option - 4

Que. 39  Which of the following groups is also known as the "Halogen group"?

I. Group 15
2. Group 16
3. Group 17
4. Group 18

Testbook Solution Correct Option - 3

Que. 40 PM Modi launches 8 Trains to Statue of Unity, Kevadiya to Boost Connectivity. In Uttar Pradesh

Kevediya is connect with which district?

1. Lucknow
2. Kanpur
3. Varanasi
4.  Jhansi

Testbook Solution Correct Option - 3

Que. 41 Who was appointed as the last Nizam of Hyderabad?
1. Mir Qamar-ud-din Khan
2. Mir Osman Ali Khan
3. Mir Akbar Ali Khan
4. Mir Nizam Ali Khan
Testbook Solution Correct Option - 2

Que. 42 Which of the following countries were declared joint winners of the 2020 Online FIDE Chess

Olympiad?
India and China
Russia and France
India and Russia

R

China and Russia
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Testbook Solution Correct Option - 3

Que. 43  Who wrote the book Democrats and Dissenters?
1. Ruskin Bond
2. Sunil Gavaskar
3.  Mohamed Zeeshan
4. Ramachandra Guha
Testbook Solution Correct Option - 4

Que. 44  With reference to the Hindu Mythology, which of the following is NOT a part of ten incarnations

of Lord Vishnu?
1. Garuda
2. Kurma
3.  Varaha
4. Matsya

Testbook Solution Correct Option - 1

Que. 45 Which of the following hill station is located at the highest from the sea level?

1. Paithmala
2.  Shimla
3. Ooty

4. Darjeeling
Testbook Solution Correct Option - 3

Que. 46  What is the meaning of Pishtaq?

1. Hasht-bihisht

2. Char Bagh

3. Central Towering Dome
4. None

Testbook Solution Correct Option ~ 3

Que. 47 Theory of Plate Tectonics explains
1. Formation of Mountains
2. Sea floor spreading
3. Origin of earthquake
4.  All of the above
Testbook Solution Correct Option - 4

Que. 48 The owner of Tapovan Vishnugad Hydro Power Plant which was recently in news, is:

I. Power Grid Corporation of India Limited

2. National Hydro Power Corporation Limited

3. National Thermal Power Corporation Limited

4. National Hydro Development Corporation Limited
Testbook Solution Correct Option - 3
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Que. 49 The term ‘Chinaman’ is associated with

1. Football
2. Swimming
3.  Cricket

4. Tennis

Testbook Solution Correct Option - 3

Que. 50 Blue-green algae is another name for

1. Deferribacteres
2. Agquificae
3. Thermotogae
4. Cyanobacteria
Testbook Solution Correct Option - 4

Que. 51 [f2x - 3/x =2, then find the value of 16x* + 81/x*.

1. 162
2. 184
3. 206
4. 192

Testbook Solution Correct Option - 2

Que. 52 InaAABC, D and E are two points on AB and AC respectively, and DE || BC. If the length of AD

and AB is 5 cm and 10 cm respectively, then find the ratio between the area of AABC and area of
Quadrilateral DECB.

I. 4:1
2. 3:5
3. 4:3
4, 5:2

Testbook Solution Correct Option - 3

Que. 53 [ryx3+ y3 =405 and x + y =9, then find the value of xy.

. 12
2. 8

3. 18
4. 24

Testbook Solution Correct Option - 1

Que. 54 In a circle with the centre is O and AB is the diameter of the circle and CD is the chord of the
circle. If angle ABC is 54° and the length of CD and BC is equal, then find the ZDBC.

1. 36°
2. 24°
3. 48°
4. 12°

Testbook Solution Correct Option - 1

@ Teachingninja.in



Que. 55 A can do a piece of work in 15 days and B is 25% more efficient than A. If A and B both work for
4 days and after 4 days C can complete the remaining work alone in 8 days, then find time taken by
A, B and C together to complete the whole work.

1. 6days
2. 5days
3. 8days
4. 10 days

Testbook Solution Correct Option - 2

Que. 56 Ina AABC, the internal angle bisector of ZABC and ZACB meets at point ‘O’. If the ZBOC is
134°, then find £BAC.

1. 76°
2. 84°
3. 92°
4. 88°

Testbook Solution Correct Option - 4

Que. 57 In a circle, there are two chords opposite to the centre of the circle. The length of one chord and the
radius of the circle is 6 cm and 5 cm respectively, and the distance between both the chords is 7 cm.
Find the length of the second chord.

I. 8cm
2. 10cm
3. 6cm
4. 14 cm

Testbook Solution Correct Option - 1

Que. 58 Simplify:

625 ><52><\/5*1°+ 3f 5

15625 516
. 1

2.0

3. 05

4. 025

Testbook Solution Correct Option - 1

Que. 59 Given below is the data of the sale of Washing Machine of a company in four cities in a year. The
record is based on the quarterly sale.

Time of the year
S e s e e
concession) concession)
Pune 522 736 419 468
Bangalore 419 606 403 452
Delhi 715 804 721 735
Mumbai 822 793 701 814
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How much turnover did the company receive during the period Oct to Dec?

1. 2469
2. 2458
3. 2456
4. 2459

Testbook Solution Correct Option - 1

Que. 60 A person invests Rs. 7500 at 10% per annum on compound interest. If the money becomes Rs.
9075 on a certain time, then find how much interest he gets if the same money he invests at the
same rate of interest for the same time on simple interest.

1. Rs. 1200
2. Rs. 1500
3. Rs. 1800
4. Rs. 1400

Testbook Solution Correct Option - 2

Que. 61 Given below is the data of the sale of Washing Machine of a company in four cities in a year. The
record is based on the quarterly sale.
Time of the year

Jan to Mar | ito| Julyto | OcttoDec

Citi (Winter Jul September (Millennium

ities concession) y P concession)
Pune 522 736 419 468
Bangalore 419 606 403 452
Delhi 715 804 721 735
Mumbai 822 793 701 814

The turnover of Jan to March is how much more than the turnover of Oct to Dec.

1. 11
2. 15
3. 14
4. 9

Testbook Solution Correct Option - 4

Que. 62 AABC is aright angle triangle and ZABC = 90°. If the length of AB and BC is 12 cm and 16 cm
respectively, then find the length of BD. (Where, BDLAC)

1. 6.4cm
2. 72cm
3. 84cm
4. 9.6 cm

Testbook Solution Correct Option - 2

Que. 63 A solid metallic sphere of radius 6 cm is melted to form 27 equal small solid spheres. The ratio of
the surface area of this sphere to that of a small sphere is
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4.

O =

3
9:
1
1

23

Testbook Solution Correct Option - 2

Que. 64 The value of x + y +zis 2 and Xy + yz + zx is -11, then find the value of x>+ y3 +75 - 3xyz.

1.
2.
3.

4.

72
76
74
78

Testbook Solution Correct Option - 3

Que. 65 A circle is inscribed in a square and the area of square is 784 cm?. Find the area of the circle.
154 cm?
308 cm?
616 cm?

1232 cm?
Testbook Solution Correct Option - 3

1.
2.
3.
4.

Que. 66
1. 16
2. 24
3. 32
4. 40

Testbook Solution Correct Option -2

If a number 5x423y is completely divisible by 88 then find the value of 5x - 8y.

Que. 67
record is based on the quarterly sale.
Time of the year
B ) e IR
concession) concession)
Pune 522 736 419 468
Bangalore 419 606 403 452
Delhi 715 804 721 735
Mumbai 822 793 701 814

What approximately is Mumbai’s contribution in the annual sale?

PR b=

27.8%
33.3%
30.9%
31.5%

Given below is the data of the sale of Washing Machine of a company in four cities in a year. The
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Testbook Solution Correct Option - 3

Que. 68 The average of 22 numbers is 64 and the average of the first 12 numbers is 62 and the average of

the last 12 numbers is 68. If we remove the 12" number. Then find the new average of remaining
numbers at one decimal place.

I. 565
2. 579
3. 582
4. 598

Testbook Solution Correct Option - 4

Que. 69 1f3c0s20 — 4 sind + 1 = 0 and 0° < 0 < 90°, then find the value of sec + tan®.

1. \3
2. 22
3. 5
4. 55

Testbook Solution Correct Option - 3

Que. 70 If A’s income is 30% less than B’s income and B’s income is 137.5% more than C. If the difference
between B’s income and A’s income is 11400, then find the income of C

1. Rs. 12,000
2. Rs. 18,000
3. Rs. 20,000
4. Rs. 16,000

Testbook Solution Correct Option - 4

Que. 71 |f (cosecH + cotB)/(cosech — cotf) = 7, then find the value of (4sin26 — 1)/(4sin26 +5).
1. 2/9
2. 19
3. 173
4. 4/9

Testbook Solution Correct Option - 2

Que. 72 A train travels first 75 km with speed x km/h and the next 90 km with x + 10 km/h. If the total time

taken by the train to cover both the distance is 3 hours. Find the time taken by train to cover 300
km with the normal speed.

1. 4 hours
2. 6 hours
3.  9hours
4.  5hours

Testbook Solution Correct Option - 2

Que. 73 Given below is the data of the sale of Washing Machine of a company in four cities in a year. The
record is based on the quarterly sale.

I | Time of the year
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Jan to Mar April tol  July to Oct to Dec
. (Winter Rul Se te}llnber (Millennium
Cities concession) y P concession)
Pune 522 736 419 468
Bangalore 419 606 403 452
Delhi 715 804 721 735
Mumbai 822 793 701 814

What is the percentage of the Washing Machine sold during July to Sept quarterly? (approx)
1. 19.9%

2. 23.9%
3. 20.3%
4. 22.1%

Testbook Solution Correct Option - 4

Que. 74 If the marked price of a commodity is Rs. 10000 and after three successive discounts 10%, 20%
and k%, the selling price of the commodity is Rs. 6120. If the shopkeeper gives only (k+20)% as a
single discount then find the selling price of the commodity.

1. Rs. 7200
2. Rs. 6250
3. Rs. 8350
4. Rs. 6500

Testbook Solution Correct Option - 4

Que. 75 The ratio of the present age of mother and daughter is 7 : 1 and after 5 years the ratio will be 4 : 1,
then find the difference between the age of mother and daughter.

1. 21 years
2. 28 years
3. 30 years
4. 26 years

Testbook Solution Correct Option - 3

Que. 76  What is the meaning of 'Full of beans'?

1. lively
2.  packed
3. Dbusy

4.  pessimistic person
Testbook Solution Correct Option - 1

Que. 77 Choose the correct meaning of the idiom.
Make a long story short

Be lazy.

Come to the point - leave out details.

Cut short things.

Not exaggerating.

PR
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Testbook Solution Correct Option - 2

Que. 78 Choose the correct meaning of the given idiom:
Let the cat out of the bag
1. Secretly hide a cat in the bag
2. reveal a secret carelessly or by mistake.
3. tocarry a lot of money
4. none of the above
Testbook Solution Correct Option - 2

Que. 79  Choose the antonym of '"Toxicity'?
1. dangerous
2. harmless
3. poisonous
4. none of these
Testbook Solution Correct Option - 2

Que. 80 Choose the correct meaning of the given word:
Numerous
1. Small in number
2. Great in number
3. Few
4. Little
Testbook Solution Correct Option - 2

Que. 81 Choose the correct spelling:
1. Viciouss
2. Vicious
3. viscious
4. Visius
Testbook Solution Correct Option - 2

Que. 82 Choose the correct spelling:

I. anxiety
2.  anxeity
3. ansiety
4. anseity

Testbook Solution Correct Option - 1

Que. 83 Choose the incorrectly spelt word:

I. arbitrary
2. serendepity
3. casual

4. lounging
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Testbook Solution Correct Option - 2

Que. 84 Choose the correct word of the following meaning:
to listen secretly to a private conversation.
1. cynic
2. spokesman
3

eavesdropper

B

patriot
Testbook Solution Correct Option - 3

Que. 85 In the following question, out of the four alternatives, select the alternative which is the best
substitute for the phrase.

A large building where aircraft is housed.

1. Granary
2. Aviary
3. Hangar
4. Apiary

Testbook Solution Correct Option - 3

Que. 86 Direction: Change the Narration-
Teacher said to Reema, "Why did you fail the examination?"
1. Teacher asked Reema why she had failed the examination.
2. Teacher asked Reema why she has failed the examination.
3. Teacher asked Reema why she had fail the examination.
4. Teacher asked Reema if she had failed the examination.

Testbook Solution Correct Option - 1

Que. 87 In the following question, a question is given in Direct speech. Out of the four alternatives,
choose the one which best expresses the sentence in Indirect speech.

The girl said to her father. " Why have you beaten my sister?"
1. The girl told her father that why he had beaten her sister.
2. The girl asked her father that why he had beaten her sister.
3. The girl asked her father why he had beaten her sister.
4. The girl asked her father if why he had beaten her sister.
Testbook Solution Correct Option - 3

Que. 88 In the question a sentence has been given in Active/ Passive voice. Out of the given four
alternatives, suggest the one which best expresses the given sentence in Passive/ Active voice.

Shramishtha had donated the books last month.
1. The books will be donated by Shramishtha last month.
2. The books has been has been donated by Shramishtha last month.
3. The books had been donated by Shramishtha last month.
4. The books will have been donated by Shramishtha last month.
Testbook Solution Correct Option - 3
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Que. 89 In the following question, a sentence has been given in Active/Passive Voice. Out of the four
alternatives suggested, select the one which best expresses the same sentence in Passive/Active
Voice.

The security council passed the amendment.
1. The amendment was passed by the security council.
2. The amendment passed by the security council.
3. The amendment were passed by the security council.
4. The amendment is to be passed by the security council.
Testbook Solution Correct Option - 1

Que. 90 Substitute the underlined word in the following sentence to make the sentence correct. If
none of the substitutions improves the sentence choose "4'" as your response

He is so late to be on time.

1. much
2. too
3. very

4. no improvement

Testbook Solution Correct Option - 2

Que. 91 Select the most appropriate option to substitute the underlined segment in the given
sentence.If there is no need to substitute it, select No improvement.

Much of the people in the train were asleep at the time of the accident.
1. Little of the people
2. No improvement
3. Most of the people
4.  More of the people
Testbook Solution Correct Option -3

Que. 92 In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

India holds an (1) place in the global education industry. India has one of the (2) _ networks of
higher education institutions in the world. However, there is still a lot of (3) for further development
in the education system. Government takes a lot of (4) in this which includes the opening of IIT’s and
IIM’s in new locations as well as (5) educational grant for research scholars in most government
institutions.

Which of these should be filled at (1) as per the context of the passage?
1. avoidable
2. important
3. vital
4. redundant
Testbook Solution Correct Option - 2

Que. 93  Which of these should be filled at (2) as per the context of the passage?
l. largest
2. immense

3.  huge
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4. insignificant
Testbook Solution Correct Option - 1

Que. 94 Which of these should be filled at (3) as per the context of the passage?
1. potential
2. prospect
3. unpromising
4. explicit
Testbook Solution Correct Option - 1

Que. 95 Which of these should be filled at (4) as per the context of the passage?
1. largest
2. immense
3. initiative
4. enterprise
Testbook Solution Correct Option - 3

Que. 96 Which of these should be filled at (5) as per the context of the passage?
I. eliminating
2. seizing
3. begrudging
4. allocating
Testbook Solution Correct Option - 4

Que. 97 DIRECTIONS: In the options given below, a sentence has been divided into 3 parts. Find out
which part of a sentence has an error. If there is no error, mark your answer as ‘No error’.

Dolphins and elephants
is highly

wobh o=

intelligent creatures
4. No error
Testbook Solution Correct Option - 2

Que. 98 Direction: Find out which part has an error and mark it as your answer. If there is no error,
mark 'No error' as your answer.

The ways of communication has (A) / changed dramatically (B) / since the last century. (C) / No error (D)

1. (A)
2. (B)
3. (0
4. (D)

Testbook Solution Correct Option - 1

Que. 99 From the options given below choose the part that has an error:
Mulberry and other fibers (A) / along with fishnets, (B) / old rags, and hemp waste (C) / is used to
make paper. (D)
1. D
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2. C
3. A
4. B
Testbook Solution Correct Option - 1

Que. 100 Fill in the blanks with the correct option:

He doesn'thave ~ money to donate.
1. much
2. some
3. any
4.  many

Testbook Solution Correct Option - 1
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